
Mesures de Trapèze (F)

Calculez les mesures manquantes pour chaque trapèze.
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?
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i
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P = ?
A = 200,7 mi2
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28 m

?

27,2 m

26,4 m

P = ?
A = 364,32 m2

3. ?
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d
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d
am
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d
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P = ?
A = 502,2 dam2
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14,9 mm
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m
m

?
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m
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m
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P = ?
A = 254,8 mm2

5.
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7
y
d

15 yd

?

15 yd

13,5 yd

P = ?
A = 102,6 yd2

6. 10,4 cm

24
,8

cm

?
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23,2
cm

P = ?
A = 305,08 cm2
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Mesures de Trapèze (F) Réponses

Calculez les mesures manquantes pour chaque trapèze.

1.

9,
6
m
i

18,5 mi
12
,7

m
i

18 mi

P = 58,8 mi
A = 200,7 mi2

2.

16
,6

m

28 m

1
1
m

27,2 m

26,4 m

P = 82,8 m
A = 364,32 m2

3. 11 dam

33
,3

d
am

20 dam

33,3
d
am

32,4
d
am

P = 97,6 dam
A = 502,2 dam2

4.

14,9 mm

25,2
m
m

5,9 mm

25
,2

m
m

24
,5

m
m

P = 71,2 mm
A = 254,8 mm2

5.

8
,7

y
d

15 yd

6,
5
y
d

15 yd

13,5 yd

P = 45,2 yd
A = 102,6 yd2

6. 10,4 cm

24
,8

cm

15,9 cm

24
cm

23,2
cm

P = 75,1 cm
A = 305,08 cm2
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